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ECONOMICS
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(Intermediate Microeconomics-I)
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The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in

their own words as far as practicable.

1.  Answer any ten questions: 2x10=20
- weifl @es e mie ¢
a)  What do you mean by utility function?
TGN SICATS w00 6 (IR 2

b) What is the Marginal Rate of Substitution
(MRS)?

2AfE< ofaoe 27 (MRs) 52

c¢)  What do you mean by the optimal choice of the

consumer?

(ST HAETG 215 I6100 B (RN 2
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d)

g)

h)

i)
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If the consumer is consuming exactly two goods
and she is always spending all of her money, can

both of them be inferior goods?

(oe M 3% 76 “lo <AIT @R o 7w O i =gl
Y FCA O ©F3 [ W= #1407 (inferior goods)
209 AT

What do you mean by Revealed preference?
(Revealed) #i%% 3108 & @I_t 2
What is compensated demand curve?

wloofgel sifewl l Fe

Distinguish between short run and long run in

production.

TG T8 (R @R A (=% AR N Ay
4 |

What is an Isoquant?
G0 AT (2

What do you mean by technological constraint
of the firm?

FIGE et Seme] e F @RI 2

Distinguish between firm and industry.

T G2 FRieEg s Ny @2
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k)

What is a homogeneous production function?

G0 ANGTOR Bl S {2

1)  Write Cobb-Douglas production function.
PG CAM AT (14 |

m) Give examples of external economies and
diseconomies of scale.
External economies @3} diseconomies CFGETH
SRR WIS |

n)  Distinguish between Revenue and profit.
AT QIR ST S 2N @12 |

o) Distinguish between marginal physical product
and marginal revenue product.
Aifgs (oo TeAmaere] g8 Aifes ey
TeofelieTsls ST 212 (+7 |

p) What is marginal productivity theory of
distribution?
TO¢ AfEF TN eTo! g J ?

Answer any four questions: 5%x4=20

@I orafo 2 Ted wie ¢

a)
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A consumer consumes only two goods. Explain

the conditions that need to be satisfied for the
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b)

d)
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consumer to be in equilibrium under

indifference curve analysis.

GFed (ot Jq vt 7 (ol 6 | WEeeE @9l
R S S ISR A &) (SIGIF &l
TGS 26T ARG G5 *Sfe A T4 |

Can you explain why taking a monotonic
transformation of a utility function doesn't

change the marginal rate of substitution?

O sl 16 11 0 AR, (1 G0 SHATI S
IR TSI (monotonic transformation) &%
T AfeF +ifFa90= 29 (MRS) #ifqada =7 =712

What does it mean to say that a person is risk
averse? Why are some people likely to be risk

averse while others are risk lovers?

GG e 1 K2 T 9L 2 (@ g @1
I @uIte itz 72 S R (@S == e

Prove that a profit-maximizing firm will always

minimize costs.

B9 e (F, GG FTe-0 F<Z) AT A6 FRIE
A |

If the firm's average cost curves are U-shaped,
why does its average variable cost curve achieve
its minimum at a lower level of output than the

average total cost curve?
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3.  Answer any two questions:

T IR T - (@4 U-SIFod 27, Ol (& @3
NG ARSI T (4 T T TH @ GR FF
SICHJ5 B O AN Sl I 2

Write a short note on 'Returns to Scale'.

‘RO T (et @3 Tofg @3 (25 Bt 74 |
10x2=20
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a)

b)
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Distinguish between compensating variation and

equivalent variation in income.

RIEE RS EE N EIICE SRS M NG IRIES Sk
e AL @1 |

What is "marginal rate of technical
substitution"? Explain why the marginal rate of
technical substitution is likely to diminish as

more and more labour is substituted for capital.

“efeare aAfes sfaasorm g (MRTS) Fe
39 (1 agfeare aifes sifiiase 2 F0e #AiE FiFe
e »If7cs Sime @ @i s orew =31

What do you mean by derived demand? Why

does a labour supply curve become backward

bending? Discuss.

2% Bifgvl FETce [ @RI2 @ G0 R @SN
R ORI 2 S 2 I 4 |
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d)
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What do you mean by perfect competition?
Discuss short run and long run equilibrium of a

competitive firm.

e eforifore! <eTce H (@Rl 2 9 efsrfarerETs
I T (R 3R A GRIM SIRPTR) S 54 |



